Reactions Practice Test Answer Key

Balance each chemical equation and identify the type of reaction as synthesis, decomposition, single replacement, combustion, or double replacement. 

1. __2__ H2 + ____ O2 ( __2__ H2O



            _____synthesis________________

2. ____ Zn + __2__ HCl ( ____ ZnCl2 + ____ H2


_____single replacement________

3. __2__ C3H6 +     9    O2 ( __6__ CO2 + __6__ H2O 

______combustion________ ____

4. ____ Fe + ____ CuCl2 ( ____ Cu + ____ FeCl2


______single replacement_______

5. ____ Pb(NO3)2 + ____ MgCl2 ( ____ Mg(NO3)2 + ____ PbCl2   
______double replacement______

6. __2__ Mg + ____ O2 ( __2__ MgO




______synthesis______________

7. ____ K2SO4 + ____ Ca(OH)2 ( ____ CaSO4 + __2__ KOH
_______double replacement____

8. C2H8 +      4    O2 (     2     CO2 +      4     H2O                       
             combustion                      .                                   .Double Replacement Reactions
For each of the following reactions:  Predict the products, determine if it will react, and balance.

1)
1 Ca(OH)2 + 2 HF ( 2 H2O + CaF2 (CaF2 precipitates)

2) 
2 NH4Cl + 1 MgCO3 (  (NH4)2CO3 + MgCl2   DNR
3)
1 Pb(NO3)2 + 1 K2SO4 ( 2 KNO3 + PbSO4 (PbSO4 precipitates)
4)
2 NaCl + 1 FeSO4 ( Na2SO4 + FeCl2  DNR
5)
3 Cu(OH)2 + 2 H3PO4 ( 6 H2O + Cu3(PO4)2  (copper (II) phosphate

                                                                                    precipitates)
6)
2 AgNO3 + 1 Na2CO3 ( Ag2CO3 + 2 NaNO3  (Ag2CO​​3 precipitates)
7)
1 ZnI2 + 1 H2CO​3 ( ZnCO3 + 2HI   (ZnCO3 precipitates)
8) 
1CuCO3 + 2 KBr (  K2CO3 + CuBr2  DNR

Single Replacement Reactions

Write the products for the following reactions and balance the equations if necessary:

	1.  2 AlBr3 + 3 Cl2 → 2 AlCl3 + 3 Br2
2 . 2 Al + 3 Pb(NO3)2  → 2 Al(NO3)3 + 3 Pb

3.  Sr + CaSO4 → SrSO4 + Ca

4.  Mg + 2 AgNO3 → Mg(NO3)2 + 2 Ag 


	5.  Ni + FeSO4 → NO REACTION

6.  Zn + 2 AgCl → ZnCl2 + 2Ag

7.  ZnS + Pt → NO REACTION
8.  2AgNO3 + Ni2+ → Ni(NO3)2 +  2Ag 




Net Ionic Equations
A)   sodium sulfate + barium hydroxide (
1.  Write the overall balanced equation for the reactants above.
Na2SO4 (aq) + Ba(OH)2 (aq) ( 2NaOH (aq) + BaSO4 (s)
2.  Write the net ionic equation.  Ba2+ + SO42- ( BaSO4 (s)
3.  What are the spectator ions?  Na+, OH-
B)  silver nitrate + magnesium bromide (
1.  Write the overall balanced equation for the reactants above.

2AgNO3 (aq)  + MgBr2 (aq)  ( Mg(NO3)2 (aq) + 2AgBr (s)

2. Write the net ionic equation.  2Ag+ + 2Br- ( 2AgBr (s)       or just     Ag+ + Br- ( AgBr(s)
3. What are the spectator ions?  Mg2+, NO3-
